ZPNMETAL
\d&/UJORK Skillair FILTER

PNEUMAT

The Job of the filter is to remove any solid or liquid impurities
from the air generated by the compressor.

Incoming air is rotated by the centrifuge unit. The heaviest
liquid and solid particles are projected against the walls of
the container and forced to adhere fo it. As they accumulate
they form drops that deposit on the bottom by gravity. The
remaining solid particles are held back by the porous
element depending on the filtering threshold. The condensate
accumulation area is kept still to prevent previously deposited
impurities from being re-circulated.

The accumulated condensate is drained out through the
drain — automatically when there is no pressure in the filter,
or by hand pressing the button. An automatic drain is
available. It automatically eliminates condensate from the [
container whenever necessary, whatever the pressure.

TECHNICAL DATA FIL 100 FIL 100 FIL 200 FIL 200 FIL 200 FIL 300 FIL 300 FIL 300
Threaded port 1/4" 3/8" 1/4" 3/8" 1/2" 1/2" 3/4" 1"
Degree of filtration 5pm 20pwm 50pm 5pm 20pum 50pm 5pm 20pwm 50pm
Max. input pressure MPa 1.5 1.3 1.3

bar 15 13 13

psi 217 188 188
Flow rate at 6.3 bar (0.63 MPa-91 psi) NI/min 1400 2400 3800
AP 0.5 bar (0.05 MPa - 7 psi) scfm 50 85 135
Flow rate at 6.3 bar (0.63 MPa-91 psi) NI/min 2000 3100 5300
AP 1 bar (0.1 MPa - 14 psi) scfm 71 110 188
Fluid Compressed air Compressed air Compressed air
Max temperature at 1 MPa; 10 bar; 145 psi °C 50 50 50

°F 122 122 122
Weight Kg 0.4 0.7 1.4
Wall fixing screws M4x50 M5x60 M5x70
Mounting position Vertical Vertical Vertical
Drain Manual Manual Manual

Manual/semi-auto (RMSA) Manual/semi-auto (RMSA) Manual/semi-auto (RMSA)
Automatic (SAC) Automatic (SAC) Automatic (SAC)

Bowl capacity cm3 22 45 75
COMPONENTS

@ Technopolymer body

@ Zamak end plate

® Technopolymer centrifuge

@ Bowl: technopolymer for FIL 100 and FIL 200,
metal for FIL 300

(®) Technopolymer baffle

® Sintered bronze filter cartridge
@ Technopolymer screen

Clear technopolymer glass

(® NBR gaskets

Drain (RMSA)




FLOW CHARTS

FIL100 1/4 - 3/8

AP = (Pm-Pv)
psi,, KPa bar

1

(6 a0 04 7

LN\ Department
w of Mechaniecs

Turin Polytechnie

* Flow tests carried out at the Department of Mechanics, Turin
Polytechnic, using the computerized test bench following CETOP
RP50R recommendations (ISO DIS 6358-2-approved) with ISO
5167 diaphragm gauge.

(A) = 2 bar - 0,2 MPa - 29 psi (D)
(B) = 4 bar - 0,4 MPa - 58 psi (E)
(C) = 6 bar - 0,6 MPa - 87 psi

\\\
N
\

0 250 500 750 1000 1250 Wymin

25 30 |35 |40 45 | wm

Flow rate

8 bar - 0,8 MPa - 116 psi
10 bar - 1 MPa - 145 psi

05 |10 |15 |20

FIL200 1/4 -3/8 -1/2

FIL3001/2 - 3/4 -1

AP= (Pm-Py)

AP = (Pm-Pv)

psi KPa bar lePa bar
8 A B C, :
, 5005 Al Bjl ¢f) bfEf 16 40 04 / / / //
Ral - / /
h / / / / 30 03 V.V
15 " / 4
oy / / / / / / / /
3 2002 / //
5 2002 / /| / 77
2
N /// // 10 01 /S
10 01 ¢y 1 A
L oz B Z
00 o 0 0 0
0 50 hooo Tso0 (2000 [2500 l3000 i/min 0 (500 l000 lis00 [2000 [2500 [3000 [3500 4000 | wymin
U] 125 50 175 1100 [125  sem o (25 50 75 100 (125 150 aan
Flow rate Howrate
DIMENSIONS FIL 100 | FIL 100 | FIL 200 | FIL 200 | FIL 200 | FIL 300 | FIL 300 | FIL 300
A G1/4 | G3/8 | Gi/4 | G3/8 | G1/2 | G1/2 | G3/4 | G1”
e c A 78 93.5 110 112
B 144 175 195
H G C 50 63 72
D 43 55 65
S ? I'E E 63 78.5 92
F 26 36 42
0O (w
G G1/4| G3/8 | G1/4 | G3/8 | G1/2 | G1/2 | G3/4 | G1”
‘ & H 43 55.5 65
| | 215 27.5 325
‘ L L M4 hole M5 hole M5 hole
M 137 196 215

B«



ATN\METAL
b/ WORK

PNEUMAT

Skillair 200 FILTER

Filter with different degrees of impurity treatment and high

performance:

* minimum load loss with changes in flow rate
* maximum degree of condensate separation

* 360° condensate level display
¢ semi-auto or auto condensate drain

TECHNICAL DATA FIL 400
Threaded port G1” | G1"1/4" | G1"1/2 G2"
Degree of filtration 5pm 20pwm 50pm 5pm 20pwm 50pm
Max. input pressure MPa 1.3 1.3
bar 13 13
psi 188 188
Flow rate at 6 bar (0.6 MPa-87 psi) NI/min 16500 20000
AP 0.5 bar (0.05 MPa - 7 psi) scfm 590 710
Fluid Compressed air Compressed air
Max temperature at 1 MPa; 10 bar; 145 psi °C 50 50
°F 122 122
Weight Kg 5.2 6
Wall fixing screws Méx110 Mé6x110
Mounting position Vertical Vertical
Drain Manual/semi-auto (RMSA) Manual/semi-auto (RMSA)
Automatic (RA) Automatic (RA)
Bowl capacity cm3 270 270

Notes on use

Series 400 end plates come with a patented system with a rotary sliding end joint to allow the unit fo be adapted to the

pipe cutting distance (see page 3.1/03).

COMPONENTS

@ Aluminium body

@ Aluminium end plate

® OT58 brass retaining ring

@ OT58 threaded bush, axial adjustment
(® Technopolymer centrifuge

® Aluminium bowl

@ Sintered bronze filter cartridge
Aluminium screen

® Clear technopolymer glass
Technopolymer plug

@D Drain (RMSA)

(@ NBR gaskets




FLOW CHARTS

FIL 400 1"

AP = (Pm-Pv)
psi KPa bar
0

7 =
45045

‘G—qu.an A /n /c D //E

|5 35035 /' [ /

4
ER z; 020 /
15 015 / // //

Lt—n.m // ,//7

LN\ Department
W of Mechanies

Turin Polytechnie

* Flow tests carried out at the Department of Mechanics, Turin
Polytechnic, using the computerized test bench following CETOP

. f , RPSOR recommendations (ISO DIS 6358-2-approved) with ISO
T h mo T Tmw Toow Tz T Tmew e Tmmeme 21067 diaphragm gauge.
10 |100 1200 1300 1400 |500 1600 | 700 1800 scim (A) =2 bor - 0,2 MPa - 29 pSi (D) = 8 bOI’ - 0,8 MPa - 116 pSi
awae  (B) = 4 bar - 0,4 MPa - 58 psi (E) =10bar- 1 MPa- 145 psi
(C) = 6 bar - 0,6 MPa - 87 psi
FIL 400 2"
AP = (Pm-Pv)
DTLK%i]%n
% 40 : : -
5 3% 035 / /H / // -
s 30 0.30 / / // /
| 25025 // / / //
321 020 /1 / /i g
| 15015 // ,//A/
s =
li /
-4 ] losoo  Iso00  [7s00  Tocon  2seo  Tsooo  Tivseo 20000 T22500mymin
10 100 200 {300 400 1500 1600 1700 800 scim
DIMENSIONS FIL 400 FIL 400 FIL 400 FIL 400
Threaded port G1 G1"1/4 G1"/2 G2"
C A 225+255 283+313
B 320
G
C 116
ﬁ D 105
= E 141.4
[a) J F 80
G G1 | G4 | Grie | G2t
H 105.4
| 52.5
L Mé hole
M 378

B«



ATN\METAL
&/ WORK

PNEUMAT

KEY TO CODES

FIL 100 1/4 20pm RMSA E'/;\AéA: /I&Acnuol[seéni-gufto drain 100 and
: utomatic drain for sizes an
Wit sm  REOP DREQT  mcorown oSS et by oo
requires variable air take-offs.
AL 100 Uiz Rl L RA:  Drain for size 300 and 400. Floct-
3/8 20 um SAC type operation irrespective of the
200 1/4 50 pm pressure and flow rate.
3/8
1/2
300 1/2 RMSA
3/4 RA
1
400 1
11/4
11/2
2
ORDERING CODES
Code Description Code Description Code Description
SKILLAIR 100 FILTER SKILLAIR 300 FILTER SKILLAIR 400 FILTER
3280001A  FIL 100 5 RMSA WITHOUT END PLATES 4480001A  FIL 300 5 RMSA WITHOUT END PLATES 6180001A  FIL 400 5 RMSA WITHOUT END PLATES
3280007A  FIL 100 5 SAC WITHOUT END PLATES 4480002A  FIL 300 20 RMSA WITHOUT END PLATES 6180002A  FIL 400 20 RMSA WITHOUT END PLATES
3280002A  FIL 100 20 RMSA WITHOUT END PLATES 4480003A  FIL 300 50 RMSA WITHOUT END PLATES 6180003A  FIL 400 50 RMSA WITHOUT END PLATES
3280008A  FIL 100 20 SAC WITHOUT END PLATES 4480004A  FIL 300 5 RA WITHOUT END PLATES 6180004A  FIL 400 5 RA WITHOUT END PLATES
3280003A  FIL 100 50 RMSA WITHOUT END PLATES 4480005A  FIL 300 20 RA WITHOUT END PLATES 6180005A  FIL 400 20 RA WITHOUT END PLATES
3280009A  FIL 100 50 SAC WITHOUT END PLATES 4480006A  FIL 300 50 RA WITHOUT END PLATES 6180006A  FIL 400 50 RA WITHOUT END PLATES
3280001 FIL 100 1/4 5 RMSA 4480001 FIL 300 1/2 5 RMSA 6180001 FIL400 1 5RMSA
3280007 FIL1001/4 5 SAC 4480002 FIL 300 1/2 20 RMSA 6180002 FIL 400 1 20 RMSA
3280002 FIL 100 1/4 20 RMSA 4480003 FIL 300 1/2 50 RMSA 6180003 FIL 400 1 50 RMSA
3280008 FIL 100 1/4 20 SAC 4480004 FIL 300 1/2 5RA 6180004 FIL4001 5RA
3280003 FIL 100 1/4 50 RMSA 4480005 FIL 300 1/2 20 RA 6180005 FIL 400 1 20 RA
3280009 FIL 100 1/4 50 SAC 4480006 FIL 300 1/2 50 RA 6180006 FIL 400 1 50 RA
3380001 FIL 100 3/8 5 RMSA 4580001 FIL 300 3/4 5 RMSA 6280001 FIL40011/4 5RMSA
3380007 FIL 100 3/8 5 SAC 4580002 FIL 300 3/4 20 RMSA 6280002 FIL 400 1 1/4 20 RMSA
3380002 FIL 100 3/8 20 RMSA 4580003 FIL 300 3/4 50 RMSA 6280003 FIL 400 1 1/4 50 RMSA
3380008 FIL 100 3/8 20 SAC 4580004 FIL 300 3/4 5 RA 6280004 FIL40011/4 5RA
3380003 FIL 100 3/8 50 RMSA 4580005 FIL 300 3/4 20 RA 6280005 FIL400 1 1/4 20 RA
3380009 FIL 100 3/8 50 SAC 4580006 FIL 300 3/4 50 RA 6280006 FIL 400 1 1/4 50 RA
SKILLAIR 200 FILTER 4680001 FIL 300 1 5 RMSA 6380001 FIL40011/2 5RMSA
3480001A  FIL 200 5 RMSA WITHOUT END PLATES 4680002 FIL 300 1 20 RMSA 6380002 FIL 400 1 1/2 20 RMSA
3480007A  FIL 200 5 SAC WITHOUT END PLATES 4680003 FIL 300 1 50 RMSA 6380003 FIL 400 1 1/2 50 RMSA
3480002A  FIL 200 20 RMSA WITHOUT END PLATES 6380004 FIL40011/2 5RA
3480008A  FIL 200 20 SAC WITHOUT END PLATES 6380005 FIL 400 1 1/2 20 RA
3480003A  FIL 200 50 RMSA WITHOUT END PLATES 6380006 FIL 400 1 1/2 50 RA
3480009A  FIL 200 50 SAC WITHOUT END PLATES 6480001 FIL400 2 5RMSA
3480001 FIL 200 1/4 5 RMSA 6480002 FIL 400 2 20 RMSA
3480007 FIL 200 1/4 5 SAC 6480003 FIL 400 2 50 RMSA
3480002 FIL 200 1/4 20 RMSA 6480004 FIL400 2 5RA
3480008 FIL 200 1/4 20 SAC 6480005 FIL 400 2 20 RA
3480003 FIL 200 1/4 50 RMSA 6480006 FIL 400 2 50 RA
3480009 FIL 200 1/4 50 SAC
3580001 FIL 200 3/8 5 RMSA
3580007 FIL 200 3/8 5 SAC
3580002 FIL 200 3/8 20 RMSA
3580008 FIL 200 3/8 20 SAC
3580003 FIL 200 3/8 50 RMSA
3580009 FIL 200 3/8 50 SAC
3680001 FIL 200 1/2 5 RMSA
3680007 FIL200 1/2 5 SAC
3680002 FIL 200 1/2 20 RMSA
3680008 FIL 200 1/2 20 SAC
3680003 FIL 200 1/2 50 RMSA
3680009 FIL 200 1/2 50 SAC






